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QUESTION 1

In PPP, when the dual-end of both communicating parties detects the physical link activation, it will switch from the link
unavailable phase to the link establishment phase. This phase is mainly through the negotiation of link parameters
through the () protocol. 

A. IP 

B. DHCP 

C. LCP 

D. NCP 

Correct Answer: C 

 

QUESTION 2

Which of the following OSPF versions is specific to IPv6? 

A. OSPFv1 

B. OSPFv2 

C. OSPFv3 

D. OSPFv4 

Correct Answer: C 

 

QUESTION 3

After deploying a DHCP server on the network, the administrator finds that some hosts have obtained the address
specified by the DHCP server. 

What are the possible reasons? (multiple choice) 

A. There is another DHCP server in the network that is more efficient. 

B. Some hosts cannot communicate properly with the DHCP server. These host client systems automatically generate
addresses in the range of 169.254.0.0. 

C. Some hosts cannot communicate properly with the DHCP server. These host client systems automatically generate
addresses in the range of 127.254.0.0. 

D. The address pool of the DHCP server has been completely allocated. 

Correct Answer: ABD 
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QUESTION 4

NAPT allows for multiple internal addresses to be mapped to a single public address. How does NAT distinguish
between the different private addresses when mapping to the same public address? 

A. The source MAC address is used. 

B. The destination MAC address is used. 

C. The source port number is used. 

D. The destination port number is used. 

Correct Answer: C 

 

QUESTION 5

In RSTP, a backup port can replace a faulty root port. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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